SA KT Dt
ord

HE: OIMEH W - =PIIB DE(SIE AL/ T - 21
Rl g - 2E HEHS EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
KA TH 10 93,879,672 132,009,317 A\38,129,645
= 805,100
[ 58,838,000
= 34,236,572
%g)@ I - S0 PSH(SSEARLH /T - e 93,430,014 131,547,987 A\38,117,973
= 805,100
= 58,838,000
< 33,786,914
2N - s Fgdst 2,150,174 1,634,570 515,604
= 305,100
= 1,845,074
ZHUSENXE HHARIZSXREE 28 X (21) 61,400 87,800 N\26,400
= 30,700
= 30,700
308 AXIHMSO0IA 61,400 87,800 A\26,400
= 30,700
= 30,700
18 SIS0t 4 A AS A 61,400 87,800 A\26,400
OYHASENXE Mtacl2=sA2dH 2
SIL] 61,400
= 30,700
[ 30,700
Ote+s Z20d 2H(31) 28,800 25,400 3,400
= 14,400
= 14,400
308 AXIHMSO0IA 28,800 25,400 3,400
2 14,400
= 14,400
18 SII2S0tHe 4 A A A 28,800 25,400 3,400
olts+s E2dH 24 28,800
- 14,400
== 14,400
NS Tetae| it sgaeldy 75 - 29 XJ (32 520,000 520,000 0
)
= 260,000
= 260,000
201 et 3| 520,000 520,000 0
= 260,000
= 260,000
01 At2t2lt] 520,000 520,000 0
OXg M2t Ser2c|dE &xt - 2
2HIE 520,000
= 260,000
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SA KA R
TI: OHNE W - =RI(E DE(BBEAMLCE/ T - 01
Rl g - 2E HEHS EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 260,000
Z0 - XNETHHEE 0t XA (IR XH) 1,210,174 999,570 210,604
308 AtAIEHMSOIE 1,210,174 999,570 210,604
01 AXEHBELES 1,210,174 999,570 210,604
OZ=oll - A& ES It K& 1,210,174
Het2el N - s R =8 1,800 1,800 0
202 04l 1,800 1,800
01 2LHoIH 1,800 1,800
OMt2ALINEA - 15 BT =X 1,800
AIEE ol S SSMA = 328,000 328,000
403 MR HHMSAHE01H 328,000 328,000
01 MHXIHH A 222 328,000 328,000
OMoi+=&1] &= X 328,000
Mt - === 28 91,279,840 129,913,417 N\38,633,577
= 500,000
= 58,838,000
< 31,941,840
Mo ey =& 51,300 51,300
201 fet= 3| 42,300 42,300
01 AtR2te|HI 41,300 41,300
OMHUL20F 2R 28 S 9,000
OXJ|IZBE dae|AA8 RAE 32,300
02 35244l 1,000 0 1,000
Or=g8Z AL EE 2 Agl] 1,000
202 04 9,000 9,000
01 =LHOHI 9,000 9,000
ONHHL20F EF =& 9,000
M= R =& 31,940 55,910 N23,970
201 et 3| 19,460 31,420 211,960
01 At 22|l 19,460 30,420 10,960
ONt=720F 2R3 28 S 19,460
202 04| 12,480 24,490 A12,010
01 SLHoIH 12,480 24,490 A12,010
ONt=120F 22 =& 12,480
Mol I & X HHH(XHATHOHAIE WA X)) (2 12) 26,916,000 38,272,500 211,356,500
= 17,944,000
[ 8,972,000
403 MR HHSAHE01H 26,916,000 38,272,500 211,356,500
[ 17,944,000
= 8,972,000
01 AXISHA=2 22X 26,916,000 38,272,500 211,366,500
OXtATHAE N X+ Eb| 26,916,000
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2A:

M OB ST - =PI DH(DDEMNUOE /TS - 012
ool TR - 2se 2st (cre:xigl)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 17,944,000
< 8,972,000
ShSIE TSI (SAAT ZUFAB) (2 )(= 18,092,000 30,942,800 12,850,800
g
[ 9,046,000
= 9,046,000
401 Al HIZ S OHbI 18,092,000 30,942,800 12,850,800
[ 9,046,000
= 9,046,000
01 Al&HI 18,063,000 30,425,010 212,362,010
OSZ ALl EH 18,063,000
= 9,031,500
= 9,031,500
03 Al 2CHYI 29,000 30,100 1,100
OZZ ALl EH 29,000
= 14,500
[ 14,500
Mo I E X HHE(SZ AKX SR/ )(=10) 26,359,500 30,980,250 N4,620,750
[ 17,573,000
= 8,786,500
403 AXIEHHSA=201H 26,359,500 30,980,250 A4,620,750
s 17,573,000
= 8,786,500
01 XM= 2L 26,359,500 30,980,250 N\4,620,750
OZZ ALl EH 26,359,500
= 17,573,000
== 8,786,500
MW E X SFH (SS AKX ABE=AN(F2)N(EEE 500,000 800,000 300,000
[ 250,000
= 250,000
401 Al HIZ S 0HHI 500,000 800,000 300,000
[ 250,000
= 250,000
01 Al&H| 498,000 798,000 A300,000
OS B ALl AEHZA} 498,000
= 249,000
=S 249,000
03 Al 2 0HYI 2,000 2,000 0
O= ALK AEi A 2,000
= 1,000
& 1,000
Mol I X2 HH(S+01 Hed SEFHI)(=1) 16,037,500 17,550,000 A 1,512,500
s 11,525,000
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2A:

T OINB WY - ZRIIE DH(SBENLOE/ ST - oIS
ool TR - 2se 2st (cre:xigl)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 4,512,500
403 MR EHMSAHE01H 16,037,500 17,550,000 21,512,500
s 11,525,000
= 4,512,500
01 AXIEHM A= E £ 16,037,500 17,550,000 A1,5612,500
O3 ol M2 SSIHIAL 16,037,500
[ 11,525,000
= 4,512,500
YHEH S=EMA = 191,600 11,880 179,720
201 er23| 10,800 5,880 4,920
01 At2teltl 7,800 5,880 1,920
ONMHAHNUHEE 28 2 HHHR &9 1,800
OXAM S M= X B 6,000
02 s3=gHl 3,000 0 3,000
OgMegsl Al 3,000
202 04| 4,800 4,800
01 SLHoIH 4,800 4,800
OMHAMUH=E 2 & WHER &2 4,800
403 MR SHHMSAH=01H 176,000 176,000
01 RXISHIA 22 & 176,000 176,000
OXNS =M & N 56,000
OXts MEMY HHl £X At 120,000
;?— SE MSAE EX(RFRE MSAE &X)(21 2,500,000 2,917,200 A417,200
= 2,500,000
403 AXIEHMSA=Z0l1d 2,500,000 2,917,200 A417,200
s 2,500,000
01 AXIEHHA =2 £ 2,500,000 2,917,200 A417,200
OR+RE MZAIE &X 2,500,000
= 2,500,000
2 FHATZ NS AHAE XA (=212) 600,000 900,000 A300,000
= 500,000
s 100,000
403 X HMSX=01H 600,000 900,000 A.300,000
= 500,000
< 100,000
01 MXIHHA =222 600,000 900,000 A300,000
O&F=+2H FHATZ NSIHAIE XA 600,000
= 500,000
= 100,000
Y2 AU (XHATHE ) (D1EH/DIEH) 37,658 37,330 328
Jl=3H| 37,658 37,330 328
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SA KA R
T #YSSAY|(KSTLD) OIEHIIEN
s Jl=2ghl EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
2A29 J1=3l 37,658 37,330 328
201 er23| 25,698 26,130 A432
01 At2teltl 25,698 26,130 N432
ORAMEY AtR2t2lH] 25,698
202 048l 8,360 7,600 760
01 2L AL 8,360 7,600 760
SEAES UL 8,360
203 =4l 3,600 3,600
M FA2ELRFEI 3,600 3,600
©202! Olat 300,000 * 122 3,600
HESS(MATHH ) (SSEML N /THHEH - 212H2() 412,000 424,000 A12,000
WA XIE 412,000 424,000 A12,000
Mol IS X+ Ehl 412,000 424,000 A12,000
705 Ol==dclsdet 412,000 424,000 A12,000
03 Al - EXISHED 20> RS &S 400,000 400,000 0
©'09& oIS X+ EH| 400,000
04 Al - SXENLI S0+ 01 Rhatgt 12,000 24,000 212,000
©'09& MoK+ EH| 12,000
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